Combininy Functions

Suppose Bob works at a clothing store and makes $8 an hour. Create
an equation f{x) that represents his earnings.

Graph this equation below £ (x) - $ X,

e State the domain and range.
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Now let's suppose that Bob also has a job at the video store
where he is paid a flat rate of $20 a shift, plus an additional
$5 an hour. Create an equation g(x), that represents his

earnings at the video store.
* Graph the function below 360 = SX +a‘o
e State the domain and range.
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Combimng Funchions

What do you suppose would happen if we added

2(x) to f(x)? Let's call this h(x) \'\ (XS _ -F(x) +3 (1)
h(0)= %MéHDq
h)= 13x+20

m=0
b=20




What do you suppose would happen if we
subtracted g(x) from f(x)? Let's call this k(x)

k&) = £60)=ox)
K() = $x ~(3x4d0)
k(x)= 3x-20




What do you suppose would happen if we mult%)éit:d f(x& and gg)? * -
« What would this graph look like? = p&{a Polon qua o |C>

e Which way would it open? Ug
e Where would the vertex be? (=a l‘lCO)
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HOMEWORK
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